W/ROLL No F¥ITH VT /PRACTICE SET: 2

KENDRIYA VIDYALAYA SANGATHAN ,JAIPUR REGION

CLASS: X

faw¥ /suB: SOCIAL SCIENCE (Y8 / CODE: 087)

s aA 3afer / Time Allowed: 3 Hours #FaH I3H/ Maximum Marks: 80

T fAder / General Instructions:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37
guestions in the Question paper. All questions are compulsory.

2. Section A— From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2
marks Each. Answer to each question should not exceed 40 words.

4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks
each. Answer to each question should not exceed 60 words.

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks
each. Answer to each question should not exceed 120 words.

6. Section-E — Questions no from 34 to 36 are case based questions with three sub
questions and are of 4 marks each. Answer to each question should not exceed 100
words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from
History (2 marks) and 37b from Geography (3 marks).
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Section A (20x1=20)

1 | Who among the following was the architect for the unification of Germany? 1
(a) Otto Vone Bismarck (b) William |
(c) Frederick 1l (d) William I

fAerferferd # & ST & Tehisheor T ATEqRTT I aT?
(1) =t ate faeAr (@) fafers | (@) w2 11 (=) ffem

2 | Mahatma Gandhi travel to Champaran in Bihar to...... 1
(a) Understand the geographical extent of India

(b) To encourage people to support Indian goods

(c) Inspire the peasants to struggle against the oppressive plantation system
(d) All of the above

HETCHT T o foge & F9mer f =Tl
(37) ATEA T FIRTITersh HHT 1 THAAT

(&) TR T AT FEGAT HT THET FLA 5 Forg Tredriad FTAr
() TFET=IT T ST ST T o (T 999 e o forw o e
(%) ITLH THT

3 | Note: Identify the picture from the option given below: 1




(@) Dandi March  (b) ChauriChaura

(c) Kakoricase (d) Drought of Bengal
Tre: o & e X faEeusr aga:
(&) FEHEE) =A-= T
() FTRETHTS () ATTATET

The following question is for visually impaired candidates only in lieu of Q.
No. 3

What was the reason behind the called off Non-Cooperation movement in India?
(a) ChauriChaura

(b) Rowlatt act

(c) Simon commission

(d) Khilafat movement

TIEHEAT 2 HEATATL A A AT e eTg | B T A A A (i eT U -

AR THAAZARTATE [ ATATTHATRTFITRTLITAT?
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Which one of the following statement is true?

(a) A children press, devoted to literature for children alone, was set up in France in
1757

(b) Penny magazines were especially meant for men

(c) Lending libraries had been in existence from the 17th century onwards.

(d) None of the above

oot § & i9 91 %99 97 g2

(1) Irgt = forw |rfee & forw aida U avet 9=, 1757 § Wi § w19 6T 1w o
(@) =T TR e =9 7 Rl & o off

(%) AT ATTRT 177 raTear & g1 Afeaea 7 o

(F) SYLH H F S Aol

Which one of the following is the main cause of land degradation in Punjab?

() HYV seeds (b) over irrigation
(c) Mining (d) overgrazing
G H ST 70T T qT w0 Aeered | | wi a1 8?
(37) BTEfae e () wreafer® fE=me

() =@ SERICERE

Which of the following conservation strategies do not directly involve community
participation?

(a) Joint forest management

(b) Beej Bachao Andolan

(c) Chipko Movement

(d) Demarcation of Wildlife Sanctuaries

ot & & g dweror T & |rer 917 9% STaTas aRiert ared T8l g2
(7) I I T

CHEEEEIEIEIEUE

GUAEREIREIEUSE

CIEREIEEERIEPIEIRICIET]

The aim of chipko movement was-
(&) removal of unwanted trees (b) preservation of wildlife
(c) forest conservation (d) all of the above

ot siErer #T SReT o1
(37) ST TET T G241 (F) F=ISal FT ALEA0(H) a9 G (F) UL q7

Organisations that attempt to influence the policies of the government to safeguard
their own interest are called as:-

(a) coalition government (b) legitimate government

(c) pressure groups (d) Democratic group

F TS ST A At it 7T o o |eante st ATt 7 T FT 7 T379 F3d ¢ Sve
Tl 7T &




(31) TSEYT LA (F) 9T LA (F) TAET T (F) ATHATNF TG

The body that is concerned with the interpretation of the laws and has the power to
punish those who commit crimes or break the laws is called as :

(a) judiciary (b) executive

(c) legislature (d) Coalition government

g T ST I it SATAT & & TAq g 3T STI0d F aTal AT HIA qied ardi & ared
LA T 9T T@dT g, IH Fgl 97T &
() FEATeRT () FEATGERT (@) B (3) Tedud e

10

Rural local government is popularly known as:
(a) Panchayati Raj

(b) Zilaparishad

(c) State government

(d) Gram panchayat

THTOT T LRI Rl ATRST T F T ATH T STET 14T 8
@) et TS (@) SeraRue (@) TS AR ()T 99T

11

Which of these is an indicator of social division?

(a) discrimination on the basis of figure

(b) discrimination on the basis of caste

(c) discrimination on the basis of qualification and skills
(d) All of the above

STH & I qT ATHIS (SAATSI T A6 62
(31) SRS F AT I ASHATT

() ST o AT T HEAT

() AT ST HIAA F AT T AIATH
(3) UL T

12

Which of these factors influence the political setup in our country?
(a) sex ratio (b) religion
(c) botha and b (d) None of these

TAH | AT AT AT GATE <97 #f TSI [ SATEAT &l TATAT HLal 872

@) RRTsama (@) a8 (@) AdiR T (3)TT0 F IS Tl

13

Who said ‘religion can never be separated from politics?
(a) Mahatma Gandhi (b) Jawaharlal Nehru
(c) Jyotiba Phule (d) Dr. B R Ambedkar

e gT o1 T e &7 TSI | F9T ST T A5l ohaT ST Fhar?
(31) AETHT Meft  (F) TATRLATA dgs () SAAAT Tl (F) X, I AT sfas®e

14

The political party which believes in Marxism Leninism is

(a) Nationalist Congress Party (b) Communist Party of India
(c) Darvid Munnetra Kazhagam(DMK) (d) Bahujan Samaj Party
HTFIATE ATATaTE H [T 1@ arell T e 91e1 g




(1) TrgATET FE T (@) T FEgfaes Ot

(¥) afET g7 F=7H (DMK) GEREEEIERICH
15 | Alegally chosen government is called as...

(a) dictatorship (b) legitimate government

(c) monarchy (d) None of these

FIIAT ®F | AT TS TR Al gl AT 5....
(37) ATATLTET (F) T FLRI () T (F) TAH & Fls Al

16

Which of these is a feature of a developed nation?
(a) Corruption. (b) political inequality
(c) Gender inequality. (d) high per capita income

TAH F FA-HT f@Farwar uw et g i ?
(31) JETHTT EVRERUSEIEEEIGEL
(F) AR A (F) I I e AT

17

Which of the following was the objective of MNAREGA 2005

(a) to control the unorganised sector in rural areas

(b) to provide minimum 100 days employment in a year by the government
(c) to control the flow of money from private sector to public sector

(d) None of the above

TG 2005 FT1 3797 Mefefeg & o f ar o

(31) ITHYOT AT B STERTST & v At e

(T) TR G UF 99 § 7 F FH 100 &7 F7 TR ITAY FHLAT
(@) =it &1 & Araae & § o % yarg & [t w5

(3) IULE | T &S A1

18

Which one of the following statement is most appropriate regarding transactions
made in money?

(@) itis the easiestway  (b) itis the safest way

(c) itis the cheapest way (d) It promotes trade

Faferfea & & 9 a7 w89 § 370 0 9939 F g9y § 999 SUITE 872
(31) T Y AEE AR & (F) Tg TG qIIerd adal g
(F) T a9 OEqT ALRT 8 () T SATITE T FETET AT g

19

What is the process of buying and selling goods and services between two or more
than two countries is known as?

(a) foreign investment (b) banking

(c) foreign trade (d) None of these

FT AT 3T T T8 T F = Feel o< Farel i @ia i< fashy St Tfram 1 Fm Fgr Srar
27
(a1) el arer (@) dfdr (@) PRt = () 399 & #is A=l




20

Where do MNCs set up their production units?

(a) At a place where they can produce their goods at a minimum cost
(b) Close to nature

(c) At a place where food is available in abundance

(d) At a place where water is available in abundance

TG HIATHAT SAAAT ICITEA THISTT Fgl ST Feal 52

(31) UHT SRIE @l o T HIA HT IcATad ~IAqH ARG T FHT Teh
(=) TFT T =

() T STE et Ao T92 A= § ITee af

(%) THT SHTE STl qTHT T AT § T 2

SECTION-B (4X2=8)

21

Trade and cultural exchange always went hand in hand.” Explain the statement in
the light of silk route.
ST &Y ATEHTAH SATET-TETT GHET ATT-FTT FAd | LT AR 6 6ad § 7 FIT =l

TEAT I

Or
How the food connects with long distance cultural exchange. . Give one suitable
example for your answer?

AT T T % FIEhias AEE-98 § 8 JeaT 82 . J99 Ia¢ & o0 T 39
IO EAfore?

22

Explain any two of efforts taken by the government of India to modernised
agriculture.

FU o AT IR0 o o7 AT a1 g7 0 0 fhegl &1 SATET 31 SATEAT i)

23

Mention any two main features which make India a federal country.

ATLT T T T 97 AT ATl heal &l G (F9uarsti 1 Soo@ i)

24

How does democracy accommodate social diversity? Explain.
AT ATATIOT TATerdT il Ff TSI FdT §? THATSU|

SECTION-B (5x3=15)

25

How did print culture affect women in the 19th century?

1931 Tt § TSie d&apfa T AigArall il 8 T Har?

26

How can solar energy solve the energy problem to some extent in India? Give your
opinion.
TIT HolT AT H SHoll GHEAT T o Z& T 81 HC Gahd [ 82 a1 T <)

27

Why is combination of politics and social divisions considered very dangerous and
explosive? Explain with suitable examples.

FAT TSTHI 3T ATHTSTR [T &7 G dgd GaidTh i faehies a1 Smar 82




ST SETELUT o 9719 HHATU)

28

Explain the M NAREGA 2005.
TG 2005 Ft =ATEAT FL|

Or
What are final goods and intermediate goods? How do they help in calculating
(GDP) Gross Domestic Product?

ST HaEqU R HeTad AU aTe ? THFATLASTTE (SIS IHT) FHNTUATH FHHEE R g 2

29

How can the workers in the unorganised sector be protected? Explain.

SAENTST &3 o ATHRT o0l GLEAT HH #hl ST qhdT g2 THATSUI

SECTION D (4X5=20)

30

Describe the explosive conditions that prevailed in Balkans after 1871 in Europe.

TAT § 1871 3 AT atewd § ATH faehies feufa=i 1 aui ¢

OR
How did culture play an important role in creating the idea of the nation in Europe?
Explain with examples.

TIT § Y T AT o A7 § TEhia 7 o7 T Ageaqor AT Aare? e
Tfed aHATE0)

31

What is the manufacturing sector? Why is it considered the backbone of
development? Interpret the region.

fFator & /7 82 =0 A i S =9 9 Srar 22 &7 i et #1)

OR
Explain any five measures to control industrial pollution in India.

AT H ST TGUT &l M FlA o Toheg! T SUTAT 1 ATEAT S0

32

Suggest any five effective measures to reform political parties.
TS 2l § LT 6 o7 Fle 9= TH7ET 39T AT

OR
Define ‘Political party’. Write the major functions of political parties.

AR Ee' P RS FY| TsieAifer el & g7 w3 faf@ge|

33

How can the formal sector loans be made beneficial for poor farmers and workers?

SrT=TE &1 o RN 6l T (e 3 ARl & o7 68 ATt ST SI7 qhaT 872

OR
How do banks play an important role in the economy of India? Explain.

AT i AAATET H 9 6 T Agcaqur o =97 82 g9l

SECTION E

Case Based Questions

34

Read the source given below and answer the question that follows.
On 8 August 1942 in Mumbai, the All India Congress Committee endorsed the

1+
1+




resolution which called for a non-violent mass struggle on the widest possible scale
throughout the country. It was on this occasion that Gandhiji delivered the famous
‘Do or Die’ speech. The call for ‘Quit India’ almost brought the state machinery to a
standstill in large parts of the country as people voluntarily threw themselves into the
movement. People observed hartals, and demonstrations and processions were
accompanied by national songs and slogans. The movement was truly a mass
movement which brought into its ambit thousands of ordinary people, namely
students, workers and peasants. It also saw the active participation of leaders,
namely, Jayprakash Narayan, ArunaAsaf Ali and Ram ManoharLohia and many
women leaders such as MatanginiHazra in Bengal, KanaklataBarua in Assam and
Rama Devi in Odisha. The British responded with force, yet it took more than a year
to suppress the movement.

1. Where did Gandhiji give his famous “do or die” speech?

2. Name the famous female leader from odisha who participated in the Quit India
Movement?

3. What was the demand of the ‘Quit India’ resolution?

J fow atw I A ue 3R Peafaf@a wea #r 3R &

8 I 1942 1 Has H W HARAT HAH HAE o 38 Y&dd 1 GASA fohar o
W & H JUHAT A9 YA W 3Ee ST FOY & 3edle har arar a1l g8 3aa W)
NS o IRACY ‘TR AT AN HAWOT G AT| "HRA BISr' & 3Edled o &2 & 93 ey H
T A T oaTe9eT o Y o arifeh ol o TesT & Ga 1 il & AAT Y
form| ot & gscrel &7 3R wSErT el 3R ART & Y vedT IR S e v Tg
JTeTeleT aead H Teh Sfel 3iereled AT fordel 9IRT 3 W19, 3727 oA, AfAe 3R framEr
A YA SR FH AT| SHH STIAYHI ARTIUT, IO TG 3ell 3R TH AARGY Aifgar s
a3t 3R S F ATGRET gToRT, 3TH # Feldhaar §831 3R 3fEer F @ & S w3
AfgeT Aqr3ft i @i HRlERY SE&r 7181 3RS & Forqds Stare &2, Y ot 3rieiest
gl H U av ¥ 3fF FAT o1 I

1. 3RS & 39aT SfAey "R AT AQ" HTVOT Fal fGAT AT?
2. 30T AT 37 IRy AT AdT F ATH AU Segiel HRA BIST 3creled H H1eT forar




qr?

3. 'HRT B8 YEdd T AET Fa7 A2

35

Read the source given below and answer the questions that follow.

“Innovative rainwater harvesting practices in India”

Many thought that given the disadvantages a rising resistance against the
multipurpose projects, water harvesting system was a via alternative, both socio-
economically and environmentally. In ancient India, along wit the sophisticated
hydraulic structures, there existed an extraordinary tradition of water-harvesting
system. People had in-dept knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest rainwater, groundwater, river water
and flood water in keeping with the lo ecological conditions and their water needs.
Hilly and mountainous regions, people built diversion channels like the ‘guls’ or ‘kuls’
of the western Himalayas for agriculture. ‘rooftop rainwater harvesting’ was common
practised to store drinking water, particular in Rajasthan. In the flood plains of
bengal, people developed inundation channels to irrigate their fields. In arid and
semi-arid regions, agricultural fields were converted into rain fed storage structures
that allowed the water to stand and moisten the soil like the ‘khadins’ in jaisalmer
and ‘johads’ in other parts of Rajasthan.

35.1 Why is rainwater harvesting technique essential in a country prone to both
water scarcity and flooding?

35.2 How do rainwater harvesting practices contribute to the overall resilience of
communities and ecosystems in India?

35.3 What role do traditional and modern rainwater harvesting methods play in
sustaining agriculture and domestic water supply?

= R T H Y 92 7 SEeE 91 A arel I % S92
“qTC | 99T ST 94 & AT a6

T ART F A7 T agseeita aRasEret & faars aea afaag i g & 3@d gu,
ST HAAT TUITAT ATHTSR-SAT0F 3T TATE0iT T 32 ¥ UF Adgrd oo «off| wr=he
AT |, THa gregiiord SXadTal o qr-aref, ST F=9 ST shl Ueh FETLTOT T
HISE offl T A7 aul =Hged T T el % Tl &7 T@T A\ A7 3T Iraid e
arefeatas fafaat sfiv IThr ST Srae==harshi i & § T@d gu aul ST, oI, qal S
SlI¥ ATE % TTHT &l THET HA 6 (70 SATIF Joheileh (R0 hil TZTET ST qadig &0 H,
FARTE 7 F % o0 i i BT & [ A7 T S SHIHT =aq aqrq| T & I &l
AT LA o (o0 ‘T TUT A A T AT ATH AT, FAT T | TS H| &9M0A 6
IE o HEET |, AN T I GAl il (HaTs 6 o0 STAHT A= (Ahed (Ul [ ST Te-
IS & &A1 |, FIU &A1 Al qUT AT HSTIOT HLAAT30 § qATad H< g1 147, e
T T TR T T Tt 7 99 T A SIqAT e, SE S9aH § gl #iw e
F AT AT H SEE
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35.1 T STeT H=IT qahe 19 U UH 29T § 1 AMG9TqF g, TGE TTHT ot FHT S a7 21 ¥
HHTAAT 872

35.2 9T S €I TATU AT § AT AT qeafaat doi & 907 daiedT § w4
TRIET <l g

35.3 FT 3T 73 T I Hl 970 1@ § TRIRE T reffesh a9l S q=9+ fatet
FAT et AT g2

36

Read the source given below and answer the questions that follow.
Money in your pocket cannot buy all the goods and services that you may

need to live well. So, income by itself is not a completely adequate indicator of
material goods and services that citizens are able to use. For example, normally,
your money cannot buy you a pollution-free environment or ensure that you get
unadulterated medicines, unless you can afford to shift to a community that already
has all these things. Money may also not be able to protect you from infectious
diseases, unless the whole of your community takes preventive steps.

The public facilities are low and health conditions also very poor that's why net
attendance ratios are low. Bihar state has more illiterate people because parents not
afford the money on education. Their incomes are also low so they can't send their
children to school so student’s dropouts are increased in Bihar state.Infant mortality
rate (IMR) is the number of infant deaths per 1,000 live births in a given year.Infant
mortality rates vary internationally due to differences in how countries register
premature infants.

1. What is Infant Mortality Rate?
2. Why do you think that in Bihar the Net Attendance Ratio is very poor?

3. Mention any two things what money in your pocket cannot buy?

A for I1T Iig & 9¢ 3R 39% 1€ e arel URaT & 39X S|

9T ST # Aolg 44 @ 3 T8l aequ AR Ja0 g TIEr S Fevell [Satehr 3maent
IS TSieal Sl & AT 3TaeTehdT g1 Fehcll &1 FHTAT, 3T 30T 31T A 37 sifde a&gail
3R Qarsit &1 e & 9T Ghdeh FAE & ST ARG 39T ¥ A HaTA &
310 & foIT, 3MA R OR, 39T 4ET TThT JGNOT Herd aTATaRVT gt TG Tohel § AT Tg
AT 7A€ T T & o 3T Yer gar? fAel, 9 d & 39 0§ dogeT &
TUHATIRT gt &1 SNTEA FET 38T Hehd 18T Ugel ¥ & T gely Aot &1 dar o 3ot
TehHAeh NARIT A T H FeTH LT & Fohll, ST o & IMTHT U A [AIRF A
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oTgI 3oIdT|

ardsifereh Fraumd s § IR Tareed f Fufd o sga @e §, sefav ey 3ufeufa seard
w0 ¢l MR Tsg & 3% oReR &1 § Faif Arar-Rar Rer w® dar @ 76 w2 9 g
3T AT ¢ FA § SAMOT I e doal H Tl Al T Thd § AT [GR Tod 7
oAl & Thol BIS HT TEAT 96 715 g1 RIY Fcg X (METANR) Bl T 71w a¥ 7 gfd
1,000 Siifad Seat @ RIY 7 & G&ar &1 RY Fog X HAWET TR R et gl &
ol & GAT @ Ugel STed TR 7 dofievor HA R ST &, 83 3R & HROT|

1. RIRr Hcg &X Fa1 g7

2. 39T OET FT T & b fagR A ey 3ufRufa sregard g T g7
3. 0 FIS g el IdBT Seg YR A9 H W I & F&T Wler S Fhar?

SECTION F

37

Map skill based questions:

(a) Two places A and B having marked on the given outline map of India. Identify
them and write their correct names on the lines drawn near them.

(A) Indian national congress session was held at this place in December 1920.
(B) the place associated with the peasants satyagraha.

HTAT= I AT T
(31) 91T * 3T T FIET = 9% & T T A O =Ad g1 S TgA el 39
ITE ST TS TGTAT T 3T Tl ATH ford |

(A) foHaT 1920 & WA T HTUF T SATALT THT TITT T g7 AT

(B) forame g & S[ET ®|

Note: the following questions is for visually impaired candidates only in lieu of
37a.

re: faferfaa s e gfRarfaa Sefear & g 37 ot & s a gl
A. Name the place where the peasant satyagraha took place.

B. Name the place where the Indian national congress session was held in
December 1920.

A. I TITH &1 ATH IATT gl heTd T gaml
B. € TATH & AT adT0 Sgi (ada< 1920 H ATCAT LT FHIUE FT AL ATFTIT
ERIE IR

(b) On the same outline map of India locate and label any three of the following with
suitable symbols.
(a) A nuclear power plant in Gujarat

2+




(b) A seaport located in Kerala
(c) Airport located in Tamil Nadu
(d) A dam located in Odisha.

(F) AT 6 T TIET AT 9T M gd § & el d19 0 STLH TAeh! & 1 Giot
ST T FL|

(31) TETT | UF LA Sl §4

() Fe § Fouq U FaTg

() gATs AT AtHaATg § R g

(7) AT ¥ feorq o =i

Note: the following questions is for visually impaired candidates only in lieu of
37b

re: el wor sae giEartee e & ™ srees 37 9 % & 1 gl

Answer the following questions. (any three)

a. Name the nuclear power plant located in Gujarat

b. Name the sea port located in Kerala

c. Name the dam located in Odisha
d. Name the airport located in Tamil Nadu

Freferfera Taret &1 sara 31 (@ fi9)

- I | FRqa IATO ST FA T AT FqT0
- A § FEAT THET ST FT 417 Fq70

- e § fRuq ary &1 719 Iarg

T- AHAATE § 24T gaTe o8 &7 719 9a10
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